EAGRAROBREERT — 2 N— ABISH —F

2

020537228 (H) 22@£R1H

M7 —UT7E B2LUT 45%3K B R
[x&4£] 1% :270,000™ ~ 23#%&:7500M”  3#%&:37,000M  43%&:27,00MH . 573%&:21,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
SN RSN MEBH 142, -1-1- . — AigaLE (£IR)
1lzl7177>482>Yx2X i3 5’2)_:(') 1(4_2)6 A 1 (3_16) %
:E¥r7AvY B:Yv RUT7z7YU— pAcZse]
P1) s 4 3 | BEEBLA 1:42.9 5-5-3-3 | 41.1| — 2 409 | =tERZ (£R)
2055 |F—TVER 54.0 (1 1/2) (7) |HHEE
A:Adlerflug £ :All Saints Gestut Brummerhof
# 3 | tHEH 1:43.5 2-2-2-2 | 42.2| — 5 467 | =IERZ (£R)
gl 3| X1 XA 54.0 3) ) | W) T UK
WX AR N BvA2T7oT4—7 & e
= B 3 | EEER 1:43.6 3-4-4-4 |41.8| — 4 432 | DNEEFIR (£IR)
4 N 4 BAYXEDRAZ—Z+ 54.0 (1/2) (+9) (%) 77—ZAREY 3>
RiF—TTUILF BFr—L3O> A4S
= # 3 | EEREKA 1:44.6 6-6-6-6 |42.0| — 3 48 | BEERE (£R)
5 B 54.0 (5) (-p) | FTEER
LIIRTLFLY BiILALTAT ZYHLTIT— L
LS S 4 3 | BIURF 1:44.8 7-7-1-1 | M7 — 6 408 | BRI (£R)
6l 6| 7Ly XIN=Ib 54.0 (3/4) -3) E(g) ESEL)
L:bh—t>Ta—4> B:RU—L/IN—I e
S i 3 | AES 1:45.5 3-3-5-5 |43.6| — 7 427 | NI7RBABA (£3R)
d > PR 54.0 3 (-g) | (B J PN
x> gAnA4A— B:37/0%>2R =% FF
® I —F—EBIERL
13=7r= 7,3,(2,4),5,1,6
23|=gr= 7,3,2,4,5,1,6
BEE 7,3,5,4,2,1,6
41—+ — 7,3,5,4,2,1,6
[ N3
BB 7 180M 714K 5-7 210M B E 5-7 330M 3JEHE 3-5-7 970M
8 B 7 110 3-7 410M B H =5 520M K31 1= 2,240H
5 160/ 3-5 550

ARICOVWTRDTEEERROODE. TR LI,




